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Part A: Grammar and Vocabulary

Choose the best answer to each question.

Pictures ---—-- -- with a telescope are inverted.

I) taken 2) are taken 3) to take 4) they took them
The reason for the accident was ------- the driver had lost control of his car.

1) when 2) why 3) that 4) after

It is difficult to overcome ——-—-- if we are not open to new ideas.

1) disadvantages 2) assessments 3) acknowledgements  4) preconceptions
The neighbors left their homes ~-v--——-- yesterday.

1) remarkably 2) simultaneously 3) approximately 4) characteristically
That young man still denies ~~----- the fire behind the store.

1) to start 2) to be started 3) having started 4) having been started
------- that the hope for cancer control may lie in the use of a vaccine.

1) Believing 2) To believe 3) The belief 4) It is believed
Tom —~---— Einstein’s theory at one point in his article.

1) alluded to 2) entitled to 3) substituded for 4) affiliated with
The poor man was —--— of many things that money could buy.

1) starved 2) deprived 3) terminated 4) confined

Part B: Cloze Test

Choose the answer that best completes each blank.

In the 1950s, some researchers tried to teach chimpanzees (9) --——-- words. They did not know
that the difference between the chimpanzee’s vocal tract and (10) --—-—- is so great that this is
almost impossible. Later they (11) - that the solution was to teach a (12) - language—cither
“words” in the form of plastic shapes or gestures based on the sign language of the deaf.

1) pronounce 2) pronunciation 3) pronouncing 4) to pronounce
1) humans 2) the human 3) human 4) the human’s
1) revealed 2) realized 3) analyzed 4) astonished
1) body 2) visual 3) naturaj 4) systematic

Part C: Reading Comprehension

Read the following passage and answer the questions.

For most of Western history, the mark of the educated person was to know the best of what had
been thought and written, to be able to think critically, and to be morally discerning and
esthetically discriminating. Today, however, American universities teach whatever students want to
learn. In 1978, for example, fewer than 20 per cent of all undergraduate degrees were awarded in
the humanities—literature, language, history, philosophy and other liberal studies. Education, in
short, is a buyer’s market, and what most students want is not a philosophy of life but a marketable
skill.

In the past, all of the following were econsidered important characteristics of a truly educated
person EXCEPT -——--.

1) appreciation of fine art 2) ability to think critically

3) ability to earn a good income 4) knowledge of the great writings

The author’s definition of the humanities would include study of all of the following subjects
EXCEPT ——-- .

1) poetry 2) philosophy 3) civil engineering 4) foreign languages

The term from the reading which is closest in meaning to the word “humanities” is ----—--.

1) libera! studies 2) marketable skills 3) buyer’s market 4) Western history
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English Examination for the Students of Mechanical Engineering.

A. Choose the appropriate word that best completes the sentence, and mark your
choice on your answer sheet.

Mechanical devices such as windmills, water wheels, and steam or gasoline eNgines, ......ouese various
forms of energy and change them into another form called mechanical energy.

1) harness 2) preserve 3) energize 4) dissipate

In a car engine, air mixed with gasoline is taken into a confined space, first it is ............ and then
combustion process occurs.

1) ignited 2) expanded 3} exhausted 4) compressed

The rotation of the camshaft is due to the ......cerueen...

1) rise of the piston 2) rotation of the crankshaft

3) closure of the exhaust valve 4) movement of the crankshaft

To develop a rotary movement in a car engine, the piston is connected to a .............

1) crankcase 2) crankshaft 3) cylinder block 4) connecting rod

Most small internal combustion engines have four cylinders, which fire in a definite and regular

oooooooooooo

1) sequence 2) symptom 3) clearance 4) frequency

B.Choose the appropriate word which has almost the same meaning with the
bold-face words.

By her clothes one could see that he was quite prosperous.

1) poor 2) calm 3) peaceful 4) well-to-do
He reciprocated by sending the general a silver tray.

1) began 2) gave up 3) finished 4) responded
The intricate mechanism of the engine seemed awesome to the mechanic.

1) subtle 2) interesting 3) complex 4) reinforced
The coppersmith summarily rejected the initial offer.

1) first - 2) final 3) largest 4) abbreviated
The conductor of the bus seemed very furious,

1) violent 2) excited 3) fortunate 4) controlled
The old age of the equipment is a definite liability to the factory.

1) aid 2) cost 3) capacity 4) disadvantage
The candidate felt that his academic credentials were sufficient to win him the job.

1) costly 2) important 3) educational 4) experience
She estimated that a lot of people would attend the international fair.

1) denied 2) calculated 3) asserted 4) hoped

The mechanic was astounded at his employers news.

1) amazed at 2) bothered by 3) happy about 4) perplexed by
The reporter described the scene as one of total chaos.

1) joy 2) wonder 3) disorder 4) intensity
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